
 

 

 

 

 

 

Nju;r;rp : fzpzp Kiwikapy; juTfis gpujpepjpj;Jtg;gLj;j gad;gLk; Kiwfs; 

Nju;r;rp kl;lk; : 3.2 jrk vz;fis Jtpjk;> vz;kk;> kw;Wk; gjpd;k vz; 
KiwikfSf;F khw;Wthu;. 
 

gapw;rp 01 

gpd;tUk; jrk vz;fis ,Uk vz;Zf;F mb khw;wk; nra;f 

1) 2310 

 
 

2) 5310 

ghlk;: ICT myF : 03 

fzpzpapy; juTfs; gpujpepjpj;Jtg;gLj;jy; 

khfhz fy;tpj; jpizf;fsk; - thuhe;j ghlrhiy 

juk;: 10 
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3) 6410 4) 8610 

5) 10010 6) 12310 

 

 

 

 

 

 



gapw;rp 02 

gpd;tUk; jrk vz;fis vz;k vz;Zf;F mb khw;wk; nra;f 

1) 2310 

 
2) 5310 

3) 6410 4) 8610 

5) 10010 6) 12310 

 

 

278 



gapw;rp 03 

gpd;tUk; jrk vz;fis gjpdWk vz;Zf;F mb khw;wk; nra;f 

1) 2310 

 
2) 5310 

3) 6410 4) 8610 

5) 10010 6) 12310 

 

 

178 

A=10 

B=11 

C=12 

D=13 

E=14 

F=15 



gapw;rp 01 

gpd;tUk; ,Uk vz;fis jrk vz;zhf khw;Wf 

1) 11012 

 
1 1 0 1 

    

8 4 2 1 

8 4 0 1 

 

2) 110012 

3) 11112 4) 100102 

5) 1110002 6) 1100112 

 

 

x 

+ + + 

1310 



gapw;rp 02 

gpd;tUk; vz;k vz;fis jrk vz;zhf khw;Wf 

1) 178 

1 7 
  

8 1 

8 7 

 

2) 278 

3) 338 4) 468 

5) 1008 6) 1068 

 

 

 

+ 

x 

1510 

80 = 1    81 = 8      82 = 64 

  



gapw;rp 03 

gpd;tUk; vz;k vz;fis jrk vz;zhf khw;Wf 

3) 3A16 
3 A 

  

8 1 

24 10 

 

4) C616 

5) EB16 6) F016 

7) 1E316 8) CD16 

 

+ 

x 

(10) 

3410 


